88. Pull factors
1. Missing words
When a business such as Top Shop sees fashion chain Zara develop from Spain to become the world’s number 1 clothing retailer, it has an impact. Top Shop’s management would be aware of the developing ______________________ of scale that are pulling average costs down. And see the value to Zara of having 500 stores in high-growth China instead of relying on Britain’s slow recovery from ___________________.  This is why firms choose to target ______________________ markets which have the potential to grow and offer significant __________________ opportunities in the near future. 
Hint: words from – emerging, recession, economies, market, operations, population, diseconomies
2.  Match the term to the explanation (write A-E in the space by the right number):
	    Answer
	Term
	Explanation

	2.1
	Commodity prices
	A. Forecast profitability of the opportunity 

	2.2
	Level of GDP
	B. Sophistication of local use of I.T. and automation

	2.3
	Level of technology
	C. The cost of buying raw materials locally

	2.4
	Likely return on investment
	D. The ease of operating without corruption, bribery or counterfeiting

	2.5
	Political and legal system
	E. The level of wealth among the local population


3.  Give one reason why:
3.1 A firm might start operating in a country with a government known for corruption and instability.

______________________________________________________________________________________
______________________________________________________________________________________

3.2 A British firm might start exporting to a country with a low level of GDP per capita. 
______________________________________________________________________________________
______________________________________________________________________________________
4.  Data response
In 2015 Innocent Drinks’ sales in continental Europe hit £100 million for the first time, with Germany the star performer. It all started in April 2007 with the launch of Innocent smoothies in Germany. It already had links with the country because it imported all its apples from there (because they cost £250 a tonne from Germany and £500 a tonne from British apple growers!) The appeal of selling to the German market was obvious, with a population 25% bigger than Britain’s, high living standards and a long-term commitment to the environment. Plus easy access via sea from Hull to Hamburg. Two possible problems, though, were the Germans’ fixation on price, with Aldi and Lidl being its two biggest grocery chains, and in 2007 the £’s value was still strong against the € (Euro).  
4.1 State three pull factors that made Germany an attractive market for Innocent. 

______________________________________________________________________________________

______________________________________________________________________________________

4.2 In what sense might Innocent’s launch in Germany have represented ‘risk spreading’ for the company?
______________________________________________________________________________________

______________________________________________________________________________________
4.3 In 2008 the £ fell from £1=€1.40 to £1=€1.05. How might this have affected the profitability of exporting smoothies to Germany?
______________________________________________________________________________________

______________________________________________________________________________________

88. Pull factors
1. economies … recession … emerging … market
	    Answer

	2.1    C

	2.2    E

	2.3    B

	2.4    A

	2.5    D


3.1 The country may have natural resources that are difficult to find elsewhere, such as uranium or diamonds
3.2 The current income level may be low, but the growth rate may be high, meaning there’s an opportunity for big sales success in future

4.1 
i. High living standards

ii. Easy transport links
iii. Big market/population
4.2 Ultimately, consumers can be fickle, so it’s risky to be over-reliant upon just one category of customer (middle class, relatively young Brits in the case of Innocent, prior to 2007); risk-spreading would be the benefit of geographical diversification
4.3 The fall in the value of the £ against the Euro was 30%. This would have helped Innocent by giving them scope to cut their Euro prices by 30% without affecting their £ profit margins. Useful, given the point in the text about German price sensitivity.
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